

## All India Institute of Medical Sciences, Bhubaneswar At - Sijua (Patrapada), Post - Dumuduma, Bhubaneswar (Odisha) - 751019

To be uploaded in website: <a href="https://www.aiimsbhubaneswar.nic.in">www.aiimsbhubaneswar.nic.in</a> (e-tender)

Reference No: STORE-64/14/2025-STPUR SEC / 93

Comp. No.: 14171

Dated: 34/09/2025

Sub- Procurement of 24 types of consumables (Anesthesia Workstation) for the Department of Burn Centre on PAC basis at AIIMS, Bhubaneswar

## **INVITING COMMENTS THEREON**

Department of Burn Centre at AIIMS, Bhubaneswar has requested to Procure 24 types of consumables (Anesthesia workstation, Model: GE AVANCE CS2, Equipment under 05 years warranty up to 27.08.2027) from M/s. Wipro GE Healthcare Pvt. Ltd.

The Notice is being uploaded for general information of prospective manufacturer/Authorized Distributor/Dealers to submit their objection/proposal/comments, if any, on proprietorship of the above items.

In case the product of any manufacturer/Authorized distributor/Dealer conforms, they may submit their proposal for the supply of the same along with the brochures, for compliance and any documentary evidence. One quotation of the product may also be submitted.

The objections/comments/proposal should be sent in sealed cover to the Office of Sr. Procurement Cum Stores Officer, AIIMS, Bhubaneswar (Odisha) – 751019 or through E-mail to **sp\_helpdesk@aiimsbhubaneswar.edu.in** so as to reach on or before **date**: 09/10/2025 failing which it will be presumed that no other firm is interested to offer comments/protest/object and case will be decided on its merits.

The Ref. no. – **STORE-64/14/2025-STPUR SEC** Dated: **39/09/**2025, due on dated: **09/10/**2025 should be superscripted on sealed envelope.

### **Enclosure:**

- 1. User Proprietary Article Certificate of AIIMS, Bhubaneswar- Annexure-I
- 2. OEM PAC of M/s. Wipro GE Healthcare Pvt. Ltd. Annexure-II
- 3. OEM Authorisation Certificate (M/s. Wipro GE Healthcare Pvt. Ltd.) Annexure-III

4. Budgetary Quotation - Annexure- IV

Sr. Procurement-cum-Store Officer (I/c)

AIIMS, Bhubaneswar Ph.: 0674-2476035/669/044

Email: spo@aiimsbhubaneswar.edu.in

## Copy to:

1. IO, Burn centre

: for information please

2. Accounts Officer

: for information please

3. Help Desk, S&P

: for information & necessary action please.

## ANNEXURE-I

## AIIMS, BHUBANESVJAR

# Proprietary Article Certificate Valid for the Current Financial Year

File N	o. and Date Reference :							
1	Description of article			ANESTHESIA MA	NSUMABLES			
2	Forecast of quantity /annu	al requirement		As per Indent				
3	Approximate estimated val	rimate estimated value for above quantity  Rs. 4,74,377.20/-						
4	Maker's name and address  GE Healthcare, U				eare, US	A		
5	Name(s) of authorized dealers/ stockists  Wipro GE HealthCare P CHAKEISIANI, BH-CII BHUBANESWAR-75101 21AAACW1685J1ZC (R				, BH-CIII AR-751010	I RASULGARH, / 0 GSTIN:		
6	Note- Tick to retain only on	se on PAC basis and certify the e out of (b), C-1) or (c-2) whic AC certificate will be invalid.		ile and cross out ot	hers. P eas			
6 (a)	This is the only firm who is AND	manufacturing / stocking this	item.			Yes		
6 (b)	A Simîlar artîcle is not manı	ufactured / sold by any other t	firm, which could	l be used in lieu OR		Yes		
6 (c- 1)	No other make/brand will b OR Only one company manufa	e suitable for following tangil	ble reasons (like	OEM/ Warranty, sp	oares.) :	yes		
6 (c)	No other make/brand will b	e suitable for following intang ase also bring out efforts mad						
7	Reference of concurrence of	f finance wing to the proposa	11:					
Histor	y of PAC Purchase of this iter	n for past three years may be	given below:					
Name	of the Supplier.							
Ord	er/ Tender Reference & Date	Quantity Ordered	Basic Rate	asic Rate on Order (Rs.)		dverse Performance Reported if Any		
						Marka Nasa		
			P	- $0$				

Signature of Appro	oving Authority
Date	Designation of Officer Designation of Officer
	31. Stratosh Blas Directo.
	Dr. ASTUTE EXECUTIVE कार्यकारी निर्देशक / Executive कार्यकारी निर्देशक / Executive AliMS Bhilbanacimpr. 751019
	andanci tra, 33 compr. 75 10
	AllMS. Bhillio

Signature of the Vienting Officers

1 | Page

	NEGOINEINI DEI DIE SINIEVOILE E	AININEAGE	7 1	
SL NO	NAME	QTY	PRICE INCLUDING GST	TOTAL COST
1	MASK, REUSABLE, SIZE 0, 15MM CONNECTION	5	₹ 2,833.60	₹ 14,168.00
2	MASK, REUSABLE, SIZE 1, 15MM CONNECTION	- 2	₹ 2,833.60	₹ 14,168.00
3	MASK, REUSABLE, SIZE 2, 22MM CONNECTION	- 2	₹ 3,018.40	₹ 15,092.00
4	MASK, REUSABLE, SIZE 3, 22MM CONNECTION	2	₹ 2,956.80	₹ 14,784.00
5	MASK, REUSABLE, SIZE 4, 22MM CONNECTION	5	₹ 2,833.60	₹ 14,168.00
9	MASK, REUSABLE, SIZE 5, 22MM CONNECTION	5	₹ 3,203.20	₹ 16,016.00
7	MANUAL BAG, 0.5L, REUSABLE, 22MM CUFF	2	₹4,153.60	₹ 8,307.20
8	MANUAL BAG, 1.0L, REUSABLE, 22MM CUFF	2	₹ 4,153.60	₹ 8,307.20
6	MANUAL BAG, 2.0L, REUSABLE, 22MM CUFF	3	₹ 4,153.60	₹ 12,460.80
10	MANUAL BAG, 3.0L, REUSABLE, 22MM CUFF	2	₹ 3,942.40	₹ 7,884.80
11	PATIENT TUBE ADULT REUSABLE SILICONE 1.5M	2	₹ 10,102.40	₹ 20,204.80
12	PATIENT TUBE NEONATAL REUSABLE SILICONE 1.5M	2	₹ 10,102.40	₹ 20,204.80
13	STRAIGHT CONNECTOR ADULT REUSABLE	2	₹2,725.80	₹ 5,451.60
14	ABS BAG ARM CONNECTOR, REUSABLE, BOX OF 10	2	₹ 9,486.40	₹ 18,972.80
15	EASY-FIL BOTTLE ADAPTER, VAPORIZER, ISOFLURANE	2	₹ 6,899.20	₹ 13,798.40
16	EASY-FIL BOTTLE ADAPTER, VAPORIZER, SEVOFLURANE	2	₹8,254.40	₹ 16,508.80
17	FILTER FAN	2	₹519.20	₹ 1,038.40
18	FAN FILTER MULTIPACK and RETAINER	2	₹31,152.00	₹ 62,304.00
19	FOAM, CO2 CANISTER (PACK OF 40) BCG	4	₹ 9,735.00	₹ 38,940.00
20	D-FEND PRO WATER TRAP, DARK STEEL BLUE, BOX OF 10 PCS	4	₹22,195.80	₹ 88,783.20
21	GAS SAMPLING LINE, DISPOSABLE, PVC/PE, 3M/10FT, 10/PKG	8	₹ 3,894.00	₹ 31,152.00
22	HMEF, ADULT, DISPOSABLE, BOX OF 50	1	₹ 10,841.60	₹ 10,841.60
23	HMEF, PEDIATRIC, DISPOSABLE, BOX OF 50	1	₹ 8,993.60	₹ 8,993.60
24	HMEF, CHILD, DISPOSABLE, BOX OF 50	1	₹11,827.20	₹ 11,827.20
VATAL CO.	TOATAL COST INCLUDING GST - RUPEES FOUR LAKH SEVENTY FOUR THOUSAND THREE HUNDRED SEVENTY SEVEN AND	D THREE HUN	DRED SEVENTY SEVEN AND	₹ 4,74,377.20





# Wipro GE HealthCare

PLOT NO.4773, CHAKEISIANI, BH-CIII RASULGARH, BHUBANESWAR-751010 GSTIN: 21AAACW1685J1ZC (Registered)

C/O DHL SUPPLY CHAIN INDIA PVT LTD, JANLA INDUSTRIAL AREA, KHATA, NO.229/103, PLOT NO.329/636, TAHSIL-JATNI, MOUZA, ALAKAR, KHORDHA-752054, ODISHA

## **Proprietary Article Certificate**

THE DIRECTOR

ALL INDIA INSTITUTE OF MEDICAL SCIENCES

AT-SIJUA (PATRAPADA), POST-DUMUDUMA

BHUBANESWAR-751019, ODISHA

Subject: Anesthesia Workstation (Model: ADVANCE CS2) & Monitors (Model: B40/B850/B650/B450)

Dear Sir,

This is to certify that the ANESTHESIA WORKSTATION Model: AVANCE CS2 & Monitors Model: B40/B850/B450 (accessories and consumables for GE medical equipments) is the proprietary item of our parent company GE Healthcare, USA.

Thanking you,

Yours faithfully,

For Wipro GE Healthcare Private Limited

Service Sales Manager

Dated: Sunday, January 26, 2025



# Wipro GE HealthCare Private Limited

(ISO 9001:2008 & ISO 13485: 2003 Certified Service Organization) CIN - U33111KA1990PTC016063 | PAN - AAACW1685J | STC - AAACW1685JST001 NO.4 KADUGODI INDUSTRIAL AREA, BANGALORE-560067

GSTIN: - 29AAACW1685J1ZW

THE DIRECTOR

Customer Name :- ALL INDIA INSTITUTE OF MEDICAL SCIENCES

Address :- AT - SIJUA (PATRAPADA) Address :- POST - DUMUDUMA City :- BHUBANESWAR, ODISHA

Pin Code :- 751019

Kind Attention :-

Department :- BURN UNIT

Contact Number :-**Email Address:** 

Number: WGEHC/OD/AIIMS/2024/008A

Date :- 11-DEC-2024

Service Request Number :- N/A System covered under :- N/A

Asset Number :- APKA01780

Asset Name :- AVANCE CS2 Installed on :- 27-AUG-2022

Contract Person :- SANTOSH NAYAK Contact Number :- 8420 223 775

Email Address :- santosh.nayak@gehealthcare.com

Reference :- Service Report # 09366 dated 08-JUL-2024

Subject :- Estimate for ACCESSORIES/CONSUMABLES of ANAESTHESIA MACHINE

We are pleased to quote our offer for the below-mentioned item as per your requirement. Kindly arrange to issue your valuable order as per the following terms.

Line	Item Number	Item Description	HSN CODE	Qty	175	Unit Cost	GST (%)	A	mount in Rs.
1	2106570-011	MASK, REUSABLE, SIZE 0, 15MM CONNECTION	90189041	1	₹	2,530,00	12%	₹	2,833.60
2	2106570-019	MASK, REUSABLE, SIZE 1, 15MM CONNECTION	90189041	1	7	2,530.00	12%	₹	2,833.60
3	2106570-020	MASK, REUSABLE, SIZE 2, 22MM CONNECTION	90189041	1	₹	2,695,00	12%	₹	3,018.40
4	2106570-021	MASK, REUSABLE, SIZE 3, 22MM CONNECTION	90189041	1	₹	2,640.00	12%	₹	2,956.80
5	2106570-022	MASK, REUSABLE, SIZE 4, 22MM CONNECTION	90189041	1	₹	2,530.00	12%	₹	2,833.60
6	2106570-023	MASK, REUSABLE, SIZE 5, 22MM CONNECTION	90189041	1	₹	2,860.00	12%	₹	3,203.20
7	2106570-001	MANUAL BAG, 0.5L, REUSABLE, 22MM CUFF	84142020	.1	*	3,520.00	18%	₹ 7	4,153.60
8	2106570-002	MANUAL BAG, 1.0L, REUSABLE, 22MM CUFF	39269099	1	₹	3,520.00	18%	₹	4,153.60
9	2106570-003	MANUAL BAG, 2.0L, REUSABLE, 22MM CUFF	90330000	1	₹	3,520.00	18%	₹	4,153.60
10	2106570-004	MANUAL BAG, 3.0L, REUSABLE, 22MM CUFF	84142020	1	₹	3,520.00	12%	₹	3,942.4
11	2096534-102	PATIENT TUBE ADULT REUSABLE SILICONE 1.5M	90189041	1	₹	9,020.00	12%	₹	10,102.4
12	2096534-103	PATIENT TUBE NEONATAL REUSABLE SILICONE 1.5M	90189041	1	₹	9,021 00	12%	₹	10,102.4
13	2096533-004	STRAIGHT CONNECTOR ADULT REUSABLE	39174000	1	~	2,31( 00	18%	₹	2,725.8
14	2105488-005	ABS BAG ARM CONNECTOR, REUSABLE, BOX OF 10	90189041	1	₹	8,470.00	12%	₹	9,486.4
15	2106572-001	EASY-FIL BOTTLE ADAPTER, VAPORIZER, ISOFLURANE	90189041	1	₹	6,160,00	12%	₹	6,899.20
16	2106572-003	EASY-FIL BOTTLE ADAPTER, VAPORIZER, SEVOFLURANE	90189041	1	₹	7,370,00	12%	₹	8,254.4
17	1009-3064-000	FILTER FAN	84213920	1	₹	440,00	18%	₹	519.2
18	M1220155	FAN FILTER MULTIPACK and RETAINER	84213920	1	₹	26,400.00	18%	₹	31,152.0
19	2105489-001	FOAM, CO2 CANISTER (PACK OF 40) BCG	39269099	1	~	8,250.00	18%	₹	9,735.0
20	M1182629	D-FEND PRO WATER TRAP, DARK STEEL BLUE, BOX OF 10 PCS	84213990	1	₹	18,810.00	18%	₹	22,195.8
21	2097307-002	GAS SAMPLING LINE, DISPOSABLE, PVC/PE, 3M/10FT, 10/PKG	39173300	1	₹	3,300.00	18%	₹	3,894.0
22	2106570-010	HMEF, ADULT, DISPOSABLE, BOX OF 50	90192010	1	₹	9,680.00	12%	₹	10,841.6
23	2106570-009	HMEF, PEDIATRIC, DISPOSABLE, BOX OF 50	90192010	1	*	8,030.00	12%	₹	8,993.6
24	2106570-006	HMEF, CHILD, DISPOSABLE, BOX OF 50	90192090	1	*	10,560.00	12%	₹	11,827.2
	1		TOTAL :-	24	₹	1,57,685.00	GST (%)	₹	1,80,811.4

#### **Terms and Conditions:**

**Payment** 

: 100% payment in advance along with Purchase Order.

: Cheque & NEFT/RTGS in favour of M/s WIPRO GE HEALTHCARE PRIVATE LIMITED

Delivery **Delivery Terms** 

: 06-08 weeks from the date of receipt of Purchase Order. : Free on Road/Rail Destination.

Validity

: This quote shall be valid upto 31-DEC-2025

Cancellation

: 10% of the order value would be deducted from the advance if order cancelled before dispatch and

: 20% of the order value if cancelled after dispatch and adjusted towards Sales tax/freight liability.

: WIPRO GE HEALTHCARE PRIVATE LIMITED, NO.4 KADUGODI INDUSTRIAL AREA, BANGALORE-560067 Order in favour

Looking forward for your valuable order along with payment details.

For any clarifications please feel free to contact the undersigned.

Thanking & assuring you of our best services always.

**Yours Sincerely** 

For Wipro GE Healthcare Private Limited

PUR SEC (Computer No. 14171)

al Remarks: If you choose to replace your equipment, GE will wo th you to assess your options and define a solution to best balance idaetary needs. Call your GE sales representative to learn more about some very attractive replacement programs

Bank Details for Online Payment Transfer:-

ry Name:\* WIPRO GE HEALTHCARE PRIVATE LIMITED

me: + HSBC LTD I 4 dress: + 7, M.G. ROAD, BANGALORE-560001

int Type: \* CURRENT ACCOUNT | Branch Code: \* 560039002

RTGS/IFC Code: \* HSBC01INDIA I NEFT Code: \* HSBC0560002

File do. STORE-64/14/2025-STPUR SEC (Computer No. 14171)
Service Sales Manager
Generated from eOffice by TAPAN KUMAR SETHI, SKCC(TKS)-STORE & PURCHASE, STORE KEEPER CUM CLERK, AIIMS-BBSR on 18/09/2025 06:12 PM